e FERRY ga.q}{ DT ERAURY_ T8 &) (g@)tﬁé‘ar—

mﬁwm 25 g oo e, ary @t
BOOKLET No. - [13 %
AeAYfRIST - I
WA JHAT QTS F YSTeaT hadsarara’
AP : 1 () a9 _Wm %n;iﬁ
L Q)

(n

(2

3
4

)

(6)

(7

et wrgferha 100 AFaH s R, HgEnHt weArt IR ik gea St ar wegfeesa wd
W SRd e T arh @rh T . 78T o T S TRee # YRR aRRaEEe] W

<L TRE-FHE
mw&mmmﬁaﬁm - 7
Torawan stevd=a ) ¥ .
q fergman LN e Jiw

T BT TEGHT FHih oo Ivireae foftre rft senafairater germmmet 3 frean R <.
(¥) T TR T TR 4 TE IR guiNen FET & 1, 2, 3 AT 4 98 i el amaa.
0 9N IeOdE wafa A Ie0En wUiE STReHRaid RN geear Iam et Tg FUET.
FHR FRYGHR TAGHHIS THE FAFT at HEd TEGRATRTOAR SR e qHiden I ardt
Fidl ST, Yreslar T wioar IR e aod, i e o O Tew .
() T sar Rregratdt vt R 3eh aew R deE AR, = e =i e
it YTt AT Ty,
A FEAT G T . IS 9 NvAEl IR A, o g SR T ar€l oEel A I
faraaar AT W QTAwT. PR W ASR0 St AR 90 TRl U ®E AEENE e A |
i @ avEd g2, 3TN YRR faeea Ty ERerE 99 e tiiera wEm
TEAT TS T e ola,
IOIRRT THG g Ferdt I WiEar IR A, TE FoD TN WigH T I EFIE @ quEd T
EL)

e TG ST T T ST SwaRrYer St ST 1 fagt Srer,
“‘ShaamR TS Tt TETTen Wi e R Swidd: auta dhg I Swatae g

[

W T fRERTE s fafe St S divds @ weafere st aremsT s A whirsmre sEEmen
e aTaaTe Y i A, @ e waedn aet yegiteet A/t fan me myagfeede sl ser
mmmmmmmw mmmpwmmwm
TR T ST Seea | aluiad goren e sRen aRvaateren sfew-827 arfe

T YRR FREUAT T AR SRET A A 7 S saadt anren v aaten srrraren s/l e
T TR s e e wd gder.

wdre g1 weatard Riite Fech 3= devmomdt i wrgfeE snfigrawr s o g T oma w& e

Tt FEn TR, W ohdear vddarhiagerin) sraelt 7l st srehfeg Tw sfufraEaER
TFRETE T 43 7 el st R v peer. _

gEtEr 2yEert mesyisdaaib =T Sifam gusasras aOsT

Idm’.
ardig




L13 2

Foed! HIHETS AT/ SPACE FOR ROUGH WORK




A 3 L13
1. anfr % O Yuddier wiueiA FARE BN, FT e R el
BT AN e Heoel AT Tl WeaweE JArIe 993 F o Swovared!
wF IE 9 .
(1) TFRW 538 T FOE TR
(2) =g TSN FIOER T MW TN GRS
(8) TS IR T FRRE WA
(4) warn FUE fom anfer srféerra g asA@n
and were two Building Contractors in Mumbai who realised the
importance of modern print media in the spread of ideas and donated a printing
press to the Satyashodhak Samaj so that the SamaJ could pubhsh their books and
journals.
(1) Tukaram Padval and Krishnarao Bhalekar
(2) Vyanku Baloji Kalewar and Ramayya Vyankayya Ayyawaru
(3) Ganpatrao Patil and Krishnarao Bhalekar
(4) Jaaya Karadi Lingu and Jaysingrao Saibu Vadnala

2. ¥ Srcieed wrr Rigw Soard sfdle Rrarsh frereh s gl g,
1 gdue @ | (2) 9T FE TEd
@ formas ge wEER {4) vt Fo gl
got the prestigious Shivaji scholarship to go te England for studying law.
(1) Xhudiram Bozge (2) Gopal Krishna Gokhale
(3} Vinayak Damodar Savarkar {4} Shyamji Krishna Varma
3. 3. FASHH I FOU ASISI AT RIATHATAR Tigult F,
H. @ Hict Heawg 9. iR 9% GWE
¥, ngEt g 3. twiw Iz9a
gatd 3o ;

1 «#€,3,%3 @ FHAMNE 3 AFIT () 4,%3 A
Arrange these movements led by Dr. Ambedkar in their chronological order.

a., Kalaram Mandir Satyagraha b. ~ Chowdar Tank Satyagraha
¢.  Burning the text of Manusmriti d. Movement of religious conversion
Answer options :
(1) sa,b,cd (2) b,c,a,d 3) a,ebd 4) heda

4. vhig fewEa ftr awy adhdd smvmeh Rt o sl et st e s
dgwe wEgde < go Jiumdie wiguron saadiu e .
(1) wft S22 (2) Y T=aw
(3) WENR dFAS (4) nfeardi<l voae
Noted philosopher and public intellectual Tarkateerth Laxmanshastri Joshi, in his
article discussing the Indian Renaissance, compared the in Maharashtra
with the Protestant Reformation in Europe.
(1) Bhakti Movement (2) National Movement
(3) Non-Brahmin Movement (4) Tribal Movement

AT BIIEIS T / SPACE FOR ROUGH WORK : P.T.O.



113 4 A
5.  HIR Raads 99 TRTE o RN ?
(1) Ao g arad |
(2) W, NewE
(3) sfirg arqa 3™
(4) Tarh R
The founder of Kamgar Hitvardhak Sabha is
(1) Narayan Meghaji Lokhande
(2) S.N. Bhalerao
(3) Shripad Amrit Dange
(4) Bhivaji Nare
6.  TEIE HIVI TRHE T YR §¢ araet Fogdm ?
(1) Hrahay (2) W/
(3) fa=m Ao ) A=
Which of the following plays was net prescribed by the British government ?
(1) Keechakvadh (2) Dandadhari
(3) Vijay Toran (4) Tritiya Ratna
T, N WREHS [F FoeAEen A4 98 sweRgi San wweht . @ 1

W AT TS Hed] AT TS §U @A 1924 A9 e, WY @Rl gud e
T YT T .

(1) wE@ A (2) e feart

(3) THHTSR WU (4) . gA

was sentenced to two years of rigorous imprisonment for publishing a
seditious book. The British government in 1924, offered to set him free, provided he
was to accept certain conditions, however he refused such a conditional release.

(1) Hasrat Mohani (2) Rangrao Diwakar
(3) Rambhau Pradhan (43 B.G. Horniman

reeqT SRS SN / SPACE FOR ROUGH WORK
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HETeH ol TreATeTed qeieeh FoR faum ey ot ?
(1) = FTetEe SRR 7 e ¥,
(2) = e RReER & o e
(3) @0 A fager arede it wea .
(4) T TG TS TG S,

Which of the following statements about Mahatma’Phule is not true ?

(1) He started a shelter for preven_tibn of infanticide. ‘
(2) He authored the book ‘Jati Bhed Vivek Saar’,

(3) He was supported in his ' work by Moro Vitthal Walvekar.

(4) He founded Satyashodhak Samaj.

PR

9. o= yiarEn $ELEsen MEEE e wid FoT ' e 'ea S, ﬂig?l%sgmm

RIS R 0 el v SeEgH ROt B T e WaE wﬁm
&1 Fet.

(1) Y. 7O (2) #laRm a9

(3) Tt dewmare (4) A3 IRER

The Bombay Provincial Legislative Council passed an act concerning compulsory
- primary education but did not define any deadline nor specified the responsibility of
education and hence invited strong eriticism from

(1) R.P. Paranjpe (2) Sitaram Keshav Bole
(3) Chimanlal Setalvad (4) B.R. Ambedkar

10. 9 WER A0 YRadtd o yame il mm&mﬁawﬁmm

_ areyr wANAETl G aftdy Yaeh dd
(1) Sy A, Beg@ad (2) fasth G
3) v fafceng () TR g

A three-member commission appointed to make recommendations regarding the
financial relations between the princely states and the British government in India

was headed by _
(1) W.S, Holdsworth (2) Sidney Peel
{3) Rushbrook Willilams (4) Harcourt Butler

TR BT SR 1 SPACE FOR ROUGH WORK ) PT.0.
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11, sfium gl ogm oftels o wevE o, aETe st o fas 7 feml
FOATT AT
(1) 20 AT 1947 (2) 29 AW 1947
(3) 14 =T 1947 (4) 24 T 1947
Dr. Babasaheb Ambedkar was chosen as the Chairman of Drafting Committee of the
Constituent Assembly on
(1) 20tk August 1947 (2) 29th August 1947
(3) 14th November 1947 (4) 24th September 1947

12, fummm serash $8 sma
31, foaureden dede g TR .
9. SN EaE ord aEn 9 @l HasaTEv .
. BN fafay Attt srengrh Swo o,

it I ;
(1) w0 A, 9 (2) %Fd A,
3) S, F (4) I &

Functions of the Speaker of Legislative Assembly are

a. To preside over the meetings of the Legislative Assembly.

b. Tointerpret rules of business and enforce them.

c. To appoint the chairman of different committees of the House.

Answer options:
(1) Onlya,b (2) Onlya,c
(3) Oniyb, ¢ (4) All of the above

13. 123 FuisHR Wi gesit faba 2017 e geim o ?
(1) duensy nfgerr Anem
(2) W gl FEen gitiEm e
(3) Tt wrmEeRA SR TaUE & <o
(4) urey wframrea 8 o gifiere ShfEr W viear Tee 9gd wed A ST W
&0

The 123™ Constitution Amendment Bill 2017 is dealing with
(1) Women reservations in Parliament
(2) Amendment to 6*h Schedule of Constitution of India

(3) Granting National Commission on Backward Classes (NCBC) constitutional
status

(4) Substituting the name of the language which appeared as ‘Oriya’ in the
8th Schedule of the Constitution of India with ‘Odia’

FoeT BTSN ST / SPACE FOR ROUGH WORK
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14. YRAT=41 HaTS = Tael e R gde faammg i,
7. W SR gate et e Fe el § w1 duia doee .
*®. AR ARIEd Afcdoa Juagdl 1937 @ 1950 v b w2 i s @ wren wft
HRE B
3. RGTEN WAl AT S he ol St ) s <.
Tt I :
(1 #,9 (2) RS 3) T 4) & A
Find the incorrect statement/s about Supreme Court of India (SCI).
a. SCI functioned from the Parliamentary House till it moved to the present
building.
b. The Constitution of India has left it to the Parliament to increase the number
of judges of SCI.
c¢.  Prior to SCI, from 1937 to 1950 the Federal Court of India was in place of it,
d. The proceedings of the Supreme Court of India are conducted in English and
Hindi only.
Answer options: _
() ab (2) Onlyd 3 ¢d 4) Onlya
18, U= “TEnEs aET Ereiet FioR Rum s 37?7

(1) it 9, SAIEETH EE I TUR Feiedl F Higodedl Ieer=a] SUEE Ul 8.

(2) 1995 qefiw VT e famm fm WEeama TR 81 Tpae= Ghifer Ar 31 o
TarE e WoaRHA e

(3) 1975 < 42 SN THAGER FITA-T TR — YA, ﬂﬁﬂﬁaamm?ﬂqm
VST FHEY O ATAT TR,

(4) VEEAET B SECHSSTEl it EaE! T 7 T SRRt Sad! Serd AT

Which one of the following statements about the ‘Preamble’ of the Constltutlon is

not correct ?

(1) It is based on the ‘Objective Resolution’ drafied and moved by Pandit
Jawaharla] Nehru,

(2) In the LIC of India case (1995), the Supreme Court held that the Preamble’ is
an integral part of the Constitution. ‘

(3) The 4224 Amendment Act of 1975 added three new words — Socialist, Secular
and Unity to the Preamble.

(4) It is neither a source of power to legislature nor a prohihition upon the powers
of legislature.

O HEWIS! ST / SPACE FOR ROUGH WORK P.T.O.
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16, WRAY THETEA qAT Feiedl quiHEEg e &t ;

A wd e I Hiere guasg
1. T AR II. ®EHl w04
%, " G . fe-dars
3. g A IV, va@ 7 Tgeta qoa
iy T : |
A q w® 3
M I 11 nm IV
)N 11 A | S v
¥ v m o 1
() M 11 v 1

Match the pairs regarding comments of experts about the Indian Federation :

d.

b,

C.

d.

K.C. Wheare I.  Bargaining federation

Granville Austin - II,  Co-operative federation

Morris-Jones III. Quasi-federal

Ivor Jennings IV. Federation with a strong centralising tendency

Answer options :

(D
(2)
(3
4)

a b c d
I I1 I11 v
II1 I1 I v

—

IV I I

—

11 II v

T BTG 9PN / SPACE FOR ROUGH WORK
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17.  Sifya anfi safera T oo (Fe9e-21) MEwme = GHRY 2.
H. EUEEE
b, I oAl T
F.  Shavawe arddeni e T
T AT
3. whidamren elkege o
atdt I .
(1) 4,9 2 9,%,% @ #,9,3 @ %,3,%
The scope of Right to life and personal liberty (Article 21) includes :
a. Right to strike |
b. Right to go abroad
¢.  Prisoners right to have necessities of life
d. Right to bonus
e. Right against solitary confinement
Answer options: .
(1) a,b (2) b, c, e (3) a,b,d 4 cd,e
18. WEAwH P Rrum g MR ? (FERIETSAT wava)

(1) T oRedsn JoEw Tie YW oRd e 5o 9 IR ahdE 91%ﬁrn?a
FTEE! AW FA AFTa.

() fum wRd=n seagE uE g 9 T S ae TaRd T aftdie amiadie
& TN, |

(3) Tum yRee=m F=auE Ui JE IR TR a9 9o TEHE Iued afrim
fafdim = amtEhe =e arme.

@) afetE vl

Which one of the following statements is false ? (With reference to Maharashira)

(1) The Chairman of the Legislative Council has to nominate not more than five
members to represent on the ‘Estimate Committee’. :

(2) The Chairman of the Legislative Council has to nominate not more than five
members on the committee on ‘Panchayati Raj’. .

(3) The Chairman of the Legislative Council has to nominate not more than five
members to represent on the committee on ‘Public Undertakings’.

{4) None of the above '

o] HHS! AR / SPACE FOR ROUGH WORK P.T:O.
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19. W TEEA=AT ATE0E 51A T W) VT HEE FoATaT GHIEY HAE S

7

H. ATl WHH FEHAel TG aRITS Aid SVE q1 S .

9. i gfdem, mHadTa i Vvt 9 guTorEng e e wo.

%, UPH N HEwrHE A i Feiell TRS, TS AT F%] A T,

3. HRE W 9 AR SAUHERE ¥ ATl oo AT HEH HIUAER §d) AR,

Tatdt I ;

(1) &, wanfors

(2) ¥, & s

(3) &3N3

(4) wFd

Which of the following is/are nof included us Fundamental Duties in-Article 51A of

the Constitution of India ?

To value and preserve the rich heritage of the country’s composite culture.

b. To develop the scientific temper, humanism and the spirit of inquiry and
reform.

¢. To protect monuments, places and objects of artistic or historic significance
which are declared to be of national importance.

d. To prohibit the consumption of intoxicating drinks and drugs which are
injurious to health.

Answer options:
(1) abandc

(2) b,candd

(3) candd

(4) Onlyb

20. memmmmiwmﬁm
YU JavamEt 3R ?
(1) 47 (2) 48 (3) 49 (4) 50
Which one of the following Articles of the Directive Principles of State Policy deals
with the separation of judiciary from executive 7
(1) 47 2) 48 (3) 49 4) 50

o] FHTETEE T / SPACE FOR ROUGH WORK
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11
SreaT Tl — (§Yh NERIY Soeae Ia9)
o (FTvE) ‘@ (FareE | )
A, vEE I fgwfa
g &g II. +%E e
®. WM I 9T e

T oMU UEE V. WER 3

vk T

H q [0 E-4
(1) I v I I1
2 II I IV 1
3 I v 111 1
@ IV IT 1 111

Maich the pairs — (Newspapers in Samyukta Maharashtra Movement)

‘A’ (Newspaper) ‘B’ (Editor ! Owner)

a4, Prabodhan I. Dinu Randive
b-. Navyug II. Keshay Thakre
c. Prabhat III. Walchand Kothari
d. Samyukta Maharashtra Patrika IV. Pralhad Atre
Answer options :

a b c d
(1) 1III v 1 I
2 1I III v I
@ o o I
4 IV Jui 1 III

L13
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o () ‘¥ ()
A, AW 153 [ fayessEn s q Jursas
|, @M 178 II, U1 HiEwR
%, W 171 I, TSARRd TRaTet Saet
3. FOW 165 v. faum <o =t =
Trefter et Thary W e fas
atdt 3w
A o “h k-
(1) I I Iv 1
2 IV 1 I 111
3) 1II 1I v I
4 1 J\Y 1V 1

Match the following pairs correctly regarding Constitutional provisions :

b.
c.

d.

‘A’ (Articles)
Article 153

Article 178
Article 171
Article 165

L

II.

IIL
Iv.

‘B’ {(Provisions)

The Speaker and Deputy Speaker of the
Legislative Assembly

Advocate-General for the State

There shall be a Governor for each State

Composition of the Legislative Council

Choose the correct answer from the codes given below :

Answer options :

(D
(2)
(3)
(4)

a
itk
v
III
1

b
I
11
11
v

c
v
I
v
31

IT
I
I
i
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29, A Y ISEL.

. Emmﬁmm.@.sﬁaﬁaﬁwmmﬁ@wgﬁﬁ 6 Far, 1956 U

% Wi ey, ee $re Setew anfor fég weve ¥ wgw weng whinimel wnfiw e
.

a3 | . .

(1) w|=A o (2) |

(3) 3 anfor a3 (4 # i § af et

Select the correct statement.

a. Samyukta Maharashira Samiti was established under the chairmanship of
S.M. Joshi in Pune on 6 February, 19566.

b. . Bhartiya Jansangh, Schedule Caste Federation and Hindu Mahasabha were
involved in Samyukta Maharashtra Samiti.

Answer options:
(1) Onlya : (2) Onlyb
(3) Bothaandb (4) Neither anor b

24. @AY wive faum e e ? ,
A, IR — GHAA T AH TG (AT THHA Jgu et Iy TR T
. am%sr et smarer frn dwdn wivardt e T FOm R | Fma I

. mmwmmﬁmmm
uaidt It
(1) R A (2) T | (3 TRF (4) Ford T

Which one of the following statements is incorrect ? -
a. An ordinance cannot contravene the Fundamental Rights any more than an act

of Parliament.

b. An ordinance may be retrospective or msy amend or repeal any act of
Parliament itself.

¢.  The power of ordinance can be exercised by the President without the advice of
the Council of Ministers.

Answer options:

{1) Onlya (2) Onlyb (3) Onlyc (4) None of the above

TUEGT HHTHISE SR | SPACE FOR ROUGH WORK : P.T.O.
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25.  yrame H IS Rum g fach 90

w.  ufrw Ie 3. ey

%, G 5. O

Wﬂhﬁ Eﬁ H

1 =,4 (2) %, 3 (3) #,7,% (4) 9, %,8

Which States abolished the Legislative Council in India ?

a. West Bengal b. Tamil Nadu

c. Punjab d. Gujarat

Answer options: _

(1) a,b (2) ¢ d 3) abc (4} b,c,d

26, WRAAT wgraEETd W @i e e
A, I I FREBMEE] vEE TEa.
q. o upudiEl w91 o wdld 9qret UEdE.
%, q ang v e Revm aw s,
3. o IR O 9e5 w@eIR NS AR HFE T

ot I

(1) T ¥, 3 e oEa

(2) Rum 9, %, § TR I
@ foam 9, % e o

(4) faum , =, %, T TR A

Consider the following statements about the *Attorney General’ of India :
a. He holds office for a term of five years. '
b. He holds office during the pleasure of the President.
He is entitled to the privileges of a member of Parliament.
d. He is not a whole-time counsel for the Government nor a Government servant.
Angwer options ;
(1) Statements a, b are correct
(2) Statements b, ¢, d are correct
(3) Statements b, ¢ are correct

(4) Statements a, b, ¢, d are correct

FHeeT HETRTIT ST / SPACE FOR ROUGH WORK
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27. FETEHAT I N TE (FRRER T

o, Taamed vdig 9. & YR g
&, .l e 3. dred 9bm
Tt I
(V) #,9,%,8 (2 2,9,3,%
3 ¥,T,9, 4 #,%93
Arrange in an appropriate order according to the tenure (Governors of Maharashtra) :
a- Vijayalaxmi Pandit b. Dr. Shankar Dayal Sharma
¢. P.C. Alexander d. P.V.Cherian
Answer options: .
(1) a,b,e.d (2) a,b,d,c
(3) a, d: bs c . (4) a, C, b, d
28,  EIelcl SN A JoaaT
L o
. FaW - 54 I e s o apade fownh fada s
9. ®AH - 53 1. srareA Upadt < Fesve @idt Hates Tse
%, Faw - 58 I sar=n Upedt S werfie when
8. FeM - Bl IV. WRare Upadt <t feaeudt wadt i aman
gt fnea a%arm am I s
T I .
A q <h g
1) Iv HI 1 11
2 11 I v II
3 I 11 v I
4y 1 1AY m 1II
Match the following pairs cerrectly :
Articles Provisions
a. Article — 54 [.  The Executive power of the Union shall be vested
_ in the President
b. Article—53 II. The c:lllectora] college for the election of the President
of India

¢. Article-58 III. Impeachment process of the President of India
d. Article—61 - IV. Qualification for the election of President of India
Choose the correct answer from the codes given below :

Answer options ;

a b e d
1) Iv 111 I I
@) II I IV III

3 I . I v 1
4 I v Im 1I

e RIS AR / SPACE FOR ROUGH WORK P.T.O.
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29.

16 A

arg FIA/A NEL.

W, Qe gt o b came aemy =y fifiniseR 1972 T2 .
g, QR gt et TR WRRIEEd 1975 Wed Fw.

%, A Tl Ao wfRire oo aee deE 25 AR

it 39

(1) A, T (@) TN, F (3) waT 4) FHET

Select the correct statement/s.

a. Employment Guarantee Scheme Committee was established by Maharashtra
State Legislature on 1972.

b. Employment Guarantee Scheme was initiated in Maharashtra on 1975.

¢. Total numher of members in Employment Guarantee Scheme Committee
are 2h.

Answer options :
{1) Onlya b (2) Onlyb,c (3) OQOnlyec (4} Onlyb

30.

g qey wiar gedt aetis faun fagrm o .

A o U WAL TR WIW U FHE 6.

q.  § Hhcwmieie T8 YIRS RUFE SR .

%. d fomfra ofteeR (Zonal Council) Tew wfsm wpdt #rka siaamw.

2. AU A1 g e E9 RIS WG SR 0 SRR SR,
¥ 4 39ffa s 9aa (Residual Legatee)‘l-‘g-'“[-iﬂilﬁlﬁ HAAH,

ot T : .
(1) fum a5, &, T K AT 2 fms, =, s, § s A
(3) Rum x, =, T, § sleramd (4) M =, 1, %, § S0 NS

Consider the following statements about the Chief Secretary of State :
a2, He acts as the head of the State Civil Service.

b. He acts as the crisis administrator in chief.

c.  He also acts as the Chief Secretary of the Zonal Council.

d

He acts as the principal channel of communication between State and Central
Government.

e. He acts as the Residual Legatee.

Answer options : _

(1) Statements a, b, ¢, d are correct (2) Statements b, ¢, d, e are correct
(3) Statements a, b, d, e are correct (4) Statements a, b, ¢, e are correct

el HTHRTI! ST / SPACE FOR ROUGH WORK
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31, 9w Sew |

N, PR AEE IEdR 58 AR TEuden A,

W I aeie e F AfER TR 3.

%, e dh R agad g s W

3. yeyg gEmE! TIE Ut g HA e TROR.

i 3R |

1) $&EHA,T (2) $%8 Y g (3) SHA,® 4) SES, 3

Select the correct statements :

a. President has all powers of court-martial.

b.  Governor has some powers of court-martial.

Death sentence can be pardoned by the President.

d. Death sentence can also be pardoned by the Governor.

Answer options :

(1) Onlya,b (2) Onlyb,d (3) Onlya,c (4) Onlye,d
32. Geha foam faemm o ;

A, mmmewﬁmmmamm
e ST ATE. -

. mmmmmmmmmm
e SEtEE — o A A TR TR F 9 e Tl - TR
e g,

Qg Im ;
(1) faom 5 TR (2 faym = 0w

3) <A faun = (4) e faam S

Consider the following statements : ' .

a. Nolaw made by Parliament shall be deemed to be invalid on the ground that it
would have extra-territorial operation.

b. Parliament has the power to make laws with respect to any matter for any part

of the territory of India not included in a State notwithstanding that such
matter is a matter enumerated in the State List.

Answer options;
(1) Statement a is correct (2) BStatement b is correct
(3) Both the statements are false {4) Both the statements are correct

T BTHITS ST / SPACE FOR ROUGH WORK P.T.O.
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33. e o (wrAE I =) |

‘e’ (3= =aTaTeTa) ‘@ (vavaAT ad)
A T I. 1975
v. fhehm II. 1949
F. 9 LR 1. 1936
g IV. 1966
i I
A L] ® 3
(1) I 11 I I
2) 11 I Inm v
3) I I v I

4) IV 111 II 1
Match the pairs (High Courts in India) :

‘A’ (High Court) ‘B’ (Establishment Year)
a. Rajasthan I. 1975
b.  Sikkim IL. 1949
¢. Madhya Pradesh III. 1936
d. Delhi IV. 1966
Answer options:
a b c d
0 1 II n 1w
(2) 1I I I IV
3) 1 I vV 1l

“ IV III I I

34, Fem wETy e TEREY ¥ oENG IRt UEE Rd e
___ WaEWE" ¥ Aggea Swrdiee TEE Imge. |

(1) 33-14 (2) 15-16 (3) 29-26 4) 26-27

At present constituencies are reserved for Scheduled Caste and
are reserved for Scheduled Tribes of the Legislative Assembly of Maharashtra.

(1) 33-14 (2) 15-16 (3) 286-256 (4) 26-27
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o, w1 Rlrs odvym o SEia s S I

3. T Tl gdvem e At Tegwn it Foead QurTRTE Hisen T vl
%, Tpadi<ar Rewdn g {48 Taued wiea 39 v

3. Am Ridas B vgaden frerd Sened wear I v

it IW

(1) BH H, T (2) &, 3

@) A F 4) ®F¥H,9, T

Select the correct statements :

a. A Money Bill can be introduced only in the Lok Sabha.

b. An Ordinary Bill can be introduced either in the Lok Sabha or Rajya Sabha.

c. A Money Bill can be introduced in Parliament on the recommendation of the
President.

d. An Ordinary Bill can be introduced in Parliament on the recommendation of
the President.

Answer options: : '

(1) Onlya,b (2) Onlye,d

(3) Onlya,b,c (4) Onlya, b d

wreliet s o faumA gakre s ?

A ITESe-365 LEeT UFAdd Usurd Pt Usige S Fvare AR WgH w9,

4. QU TeEd I heAET Uh BRI WEd o Beee deae e
TR AT 307 FeTT e,

®. W WAl QE WURRRT W el o it v At Tt e @ e,

€. Ugudi wmae oy e Gl =emes w ae aad.

qaidftI® ;

(1) %= @ FTRIAMF (3 TREMNNET (4) T ANIE

Which of the following statement/s is/are not correct ?

a.  Article-365 also empowers the President to issue a proclamation of President’s
Rule in a State.

b. A proclamation of President’s Rule must be approved by both the Houses of
Parliament within one month.

c.  If approved by both the Houses of Parliament, the President’s Rule continues
for one year.

d. The decision of imposing President’s Rule can be struck down by the court.
Answer options : '
(1) Onlyb - (2) Onlybandc {3) Onlycandd 4) Onlyaandd
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Gl Wi fum Fver AR ?

(1) T fMsadia el W yerea Sfiits e o see e e
15 ZaEATHET AR A ST T,

(2) TSI AhmESTES D He TEIEiEd 12 Y& SH J5al S 2.

(3) fegten nhmser) ag aa frndai=r vgo oo So=m 15 o9 FffRn o
et g,

(4) T v T

Which one of the following statements is correct ?

(1) The total nurber of ministers, excluding the Chief Minister in a Stsite shall nat
exceed 15 percent of the total strength of the Legislative Assembly.

(2) The total number of ministers including the Chief Minister shall not be less
than 12 in a State.

(3) The strength of the Council of Ministers of Delhi is fixed at 15 percent of the
total strength of the Legislative Assembly.

(4) None of the above

mﬁaﬁﬁﬁmmnﬁ%uﬁmﬁa%ﬁaﬁmaﬁﬁ?
A, FEEA TR

C T C

%. o wem

g g

¥, SUEd

WH’(EH:{:

(1) &% A, 9, % (2) T E,H, S
(3) BF®,S,3 (4) $F A, A,

Which of the following States has only one member in Rajya Sabha ?
a. Arunachal Pradesh

b. Goa
c. Himachel Pradesh
d Mizoram

e. Uttaranchal

Answer options:

(1) Onlya,b,c (2) Onlyb,c,d
(3) Onlyc,d. e (4) Onlya,b,d
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89, Cirputeq faTvEEt _ Aiee T W 9 w9,
(1) YREE TR ST
(2) o YA TERFER
(3) <A1 WGER VAW TS Seamt 38 w1 HAGR Teldie IRErd wgd
(4) FEE TRAT TNE NN HIAE GEE AAGR TUreAl HAGRAR] Wed Ad Sigideie
SR THGA
For election to the Lok Sabha, a nomination paper can be filed by
(1) anyone residing in India.
(2) any citizen of India.
(3) aresident of the constituency from which the election is to be contested.
(4) a citizen of India whose name is enrolled in the electoral roll of any
" parliamentary constituency.,
40. < AE (TPUR AfR)
‘ar’ | ' -
&, wrarsal I3 fR weman swena st L ¥g=ex 360
q.  wegare faawmme gue fear wfesa . S1<=% 354
F.  EA ARSI vy T . sigeae 352
3. Rl softamfie son IV. Fqea% 359
ot 3N ;

< ) o A X
(1) I II I v
2) 1 II m 1V
(3) I II v 1
4 III v 1 1
Match the pairs (Powers of President) :

[} A! . ‘B’
a. Emergency in the whole or part of India I.  Article 360
b.  Restrict or prohibit the distribution of revenues II.  Article 354
¢.  Suspend the enforcement of fundamental rights III. Article 352
d. To declare a financial emergency IV. Article 359
Answer options : : |

a b c d
(1) II IT I IV
(2) 1 II I | \Y
(3) III I1 v I
4) III IV II I
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41, T3 T GRS e $Eg 7% a9d St
q. U o wfien UsaR aea g fragmed) Se wan ot aueen faedt Fe.
. G Weeredl AEOT= Rrvararad U q61 509 JIelr FgHan g e,
aliei¥ehl Fr faumA aviar amea 2

gt 3=t ;
1 A9, % (2) T A
(8) Fad T AT + (4) T ) T

The Parliament can make a law on a subject in the State List when
a. aproclamation of Financial Emergency is in force.

b. one or more States make a request to the Parliament to make a law on a State
subject.

¢. Rajya Sabha passes a resolution by simple majority that such subjects have
acquired national importance.

Which of the above statement/s is/are correct ?

Answer options;

(1) a,b,e {(2) Onlya

(3) Onlybandc (4) None of the above

42, HEew sftren ¥ w13 A
¥, WHE T fFar due W=,

§. & amfaat,
%. wEas fAften s=iw w3,
.  dfeume g s

T I
(1) S A, 9, (2) %R d, & 3
(3) F3A, %, 8 (4) BE A, 9,8

The role and functions of the Parliament are

a. to form or end the Government.

b.  to call for information.

c. to monitor the expenditure of public funds.
d. to safeguard the Constitution.

Answer options:
(1) Onlya,b, ¢ (2) Onlyb,c,d
(3) Onlya,c,d (4) Onlya,b,d
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T AR B wd sreORAs) TR g T
TETEE qHuT 9 W,
AT FFGE 9 W,
TR T S 3 T W
s fEEs T e SOgsN 36 9 W
it 3a
(1) $6A, 4, % (2) B8, 9T
3) TEH,F,T (4) abw &

o oy o8y

The expenditure charged on the Consolidated Fund of India shall include
a. the emoluments and allowances of the President.
b. the emoluments and allowances of the Prime Minister.

the salary and allowances of the Chairman of the Council of State.

b

d. the salary and allowances of the Comptroller and Auditor General of India.
Answer options !

(1) Onlyab,c @) Onlye,d,b

(3) Onlya,e, d ' (4) All of the above

e 3 weEr Tles 9 A0 anfor

(1) WWar=a AT agmeed $6 UETdee Hfvea a9,

(2) woHg FivEE ol 9. _

(3) g Wil agmeTd % Tpddigr Rfvam w9 .

(4) i wiieemre Rt Ha .

The salary and allowances of the Comptroller and Auditor General

(1) are determined By the Presidént in consultation with the Chief Justice of India.
{2) are determined by the Parliament.

(3) are determined by the President in consultation with the Union Council of
Ministers. '

(4) are determined by the Union Council of Ministers.
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45, s Al (FHa 95E) -

‘% (uEw TR)
% e ew
g, I T R
¥, IS
g Mar
“’ﬂ"'ﬂ’f Iﬁﬁ :

< | =
(1 Iv 111
(2 II v
8y II 1
1) I v

II

III

9N

11

24
& (W ww)
) |
4
5
6

-4

I

I

v

11

Match the pairs (Member of Lok Sabha) :

oo

o
H

d.

Answer options

(1)

(2)

(3)
(4)

‘A’ (State)

Himachal Pradesh

Jammu and Kashmir
Uttarakhand

Goa

a

v

11

II

I

b

II1

v

I

IV

I1

m

m

II

d

I

1

v

I

IL

I

‘B’ {(No. of members)

2

4
5
&
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48. wﬁzﬁm@mmwmqm@m — Admd W
(1) w9 (2) TH
(3) woaEd (4) 9@ st
‘Local government’ is included in the _____ __list in the 7™ Schedule of the
Indian Constitution.
(1) Union (2) State
(3) Concurrent {4) Residual Powers
47, TRMRAER e RaERE srge fun Rae
¥,  TEFPRITESR BHNE AgT 99 GgIT g .
¥, 91 SSHWE FFFAI T3 A= FUBH .
. WA A YSHA RO e HIg, Wb AT
gy I ;
(1) =1, Faafr= (2) waa A AT
(8) w3l & 4) TR 9 A F
Find the correct statements from below about Commissioner of Municipal
Corporation.
a. The Commissioner can participate in discussions in the meetings of the
Corporation.
b. The Commigsioner cannot vote in these meetings.
¢. The Commissioner cannot make any proposition in the meetings.
Answer options : :
(1) a,bandc (2) Onlyaandb
(3) Onlyaandc 7 (4) Onlybandc
48, TR Wm O AR 77 AR Tt g e /A R

A IR F faw it sy P o 99 wm anda.

¥. e FEm e $g-usy Tl i 60 @ 40 AR,

%, S WRE T SO TeITeidl -t devire TR 90 : 1031%@%
%%mmmmso.mm

(1) 9 HaOME 2) wHTafus

(8) wH % AV S 4) wHE

Find the incorrect statement/s about Rashtriya Gram Swaraj Abhiyan.

a. The scheme consists of Central and State components.

b. The Centre-State sharing pattern for the State component is in the ratio of
60 : 40.

¢. - In North-East and Hilly States, Centre-State sharing pattern is in the ratio of
90 : 10. '

d. For all UTs the sharing pattern is in the ratio of 80 : 10.

Answer options :

(1> a,b,candd (2) Onlybandc

(3) Onlycandd (4) Onlyd

et SIS ST / SPACE FOR ROUGH WORK ' P.T.O.
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FIH HSBANTF gaﬁa‘/gaﬁa?ﬁm/ﬁuﬁﬁam.

q. mnﬁﬁ?ﬁﬂﬂﬁﬁmﬁﬁmmﬁﬁﬂﬁﬁﬂa%ﬂwwmmﬁaw
. AIRESITHE Fh AGHB HiT FHR AT

w3

(1) AW s 2 wwAws 3 wmIATE 4) WA

Find the incorrect statement/s about Cantonment Boards.

a. ‘Local Self Government in Cantonments’ is included in the concurrent list in
the Indian Constitution.

b. Cantonment Boards are democratic bodies which look after the municipal
administration of notified areas.

¢.  There are three population-wise categories of Cantonment.

Answer options :

(1) a,bandc (2) Onlyaandc (3) Onlybande (4) Onlya

50.

qarad Whild gl devia gda faumiqn g@ie faym faa.

(1) m;@wam&umﬁ?qamﬁrmma&nﬁmﬁwﬁwﬁﬁm%ﬁ
FGEN O AL,

(2) W= UF @R A qEE Ieifod arefaes Geie giwe T § gel TR el o

(3) =1 g v=Rk U9 wearh o, faa onf el 9= weee S W,

(4) @ g fifa smaEm 3 wmfer SeRe @R 9 TR Sl IR,

With reference to Panchayat Devolution Index, find the ineorrect statement.

(1) The Index assesses how far the States have progressed in empowering
Panchayati Raj.

(2) The Ministry of Panchayati Raj and the National Coundil of Applied Economics
Research have prepared the Index.

(3) The Index measures the functions, finance and functionaries of the Panchayati
Raj Institutions. '

(4) The Index was prepared by the NITI Aayog and the Ministry of Rural
Development.

51.

R ToAste=an a0 Aggmes sive fewrrn gaeE g ?
JA. ™ T, eI "
F.  HYSIE G € 9T EE
vatdt I/ :

(1) v, Tanfrsg (2) w99, H AN 3
(3) ®F A, B AT T (4) wHR A, T I H

Which subjects are included in 19t Sehedule of the Indian Constitution ?
a. Roads and bridges b.  Fire services

¢.  Slum improvements d. Postal services

Answer options:

(1) Onlya,bandd (2) Onlyb,candd

{(3) Onlya,candd (40 Onlya,bande
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TRuTfeRREEIa @ief faum femea <0 ¢

. “a” o TRAORAR 381 65 R K.

¥, ‘Tt IRefadned 23 1 37 HeE dEAE.

®. B @ TR 171 23 UeE 3.

g “g ot TRAfIe 113 17 956 .

O wivd o ey oA 7

Qo I _

(1) w5 R, @A ® - @) wHa4, $ s
3 A, F e (4) v A, F IS
Consider the following statements regarding the Municipal Councils :
a.. There are 38 to 65 members in “A” Class Municipﬁ] Councils.
b.  There are 23 to 37 members in “B” Class Municipal Councils.
¢.  There are 17 to 23 members in “C” Class Municipal Councils.
d. There are 11 to 17 members in “D” Class Municipal Councils.
Which of the following statements given above are correct 7 '
Answer options: -

(1) Onlya,bande | (2) Onlyb,candd

() Onlya candd (4) Onlya,bandd

53.

e Agar afirdre e Gewia ERfeldl Po/d amA s snfa ?

A, HE Hgm il Pealls et =evar iR Reere S

4 = qEmdE At s davar Tl

. g waden fesr wia o Fesmmd sewgr sdivam 3@,

TR IW : .

() w58 A _ (2) o o Ifor 9

(3) wuad @ wwaai®

Which of the following statement(s) regarding the Ashok Mehta Committee is/are

incorrect ?

a. The Ashok Mehta Committee recommended the ereation of a three-tier system
of Panchayati Raj.

b. Nyay Panchayat should be kept as separate bodies.

¢.  Zila Parishad should be made responsible for economic planning at the district

level.
Answer options :
(1) Onlya (2) Onlyaandb
(3) Omlyb : (4) Onlybandc
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28 A
JufarmiRr st wd 3R,
¥, Aegd TR wawm g qqraeft o
| it gewEE e agEE ek o
%, Tl o q@m frevaema e o
2. WS WA= q9raelt S
Tt I ;
(1) o ¥, & AWM * (2) ®F N, § MU
(3) W A, T M T (4) S E, 6 e
Duties of the Sub-Divisional Officer are
a. To supervise and inspect all revenue matters
b. To give decision in cases pertaining to land rights
¢. Torecommend to the Collector for grant of arms license
d. To inspect school administration
Answer options : ‘
{1) Onlya,bande (2) Onlya, bandd
(3) Onlya,candd {4) Onlyb,candd

B5.

femareT s e e A 7 '

(1) s = 15 feaa=ar aa
(2) I =mEnERs 30 g s
(3) fawmita sgearers 15 feaar=m 2t
(4) Toom fagys smgFass 7 fegaren A@

To whom and when can the appeal be made against the judgment of a Collector on
the disputed election of a Sarpanch ?

(1) To District Court within 15 days
(2) To High Court within 30 days
(3) To Divisional Commissioner within 15 days

{4} To District Election Commissioner within 7 days
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56, @Vl FEd uw W Ae-Egd Greid ue faem =
W @ S oiea Merla FET TE T T 39,
4. mwmwmamwwﬁmﬁmﬁﬁmm
|rgATET [GEsT el S
*. maﬁﬁammmﬂﬁﬁmmmﬁﬁm.

Fhadh wrasd Bﬁﬂ?ﬂlﬁfﬂ ?

quidt s _

(1) aT A T 3 (2) w9 A H

(3) Ha A AU H (4) HHRH

Consider the following statements regarding the Swarna Jayanti Gram
Self-employment Scheme :

a. This scheme is implemented to assist families living below the poverty line.

b.  Under this scheme financial assistance and government subsidies are provided
to furnish the families with permanent income generating tools,

¢.  Self-help groups are not assigned any role in this scheme.

Which of the statement(s) given above is/are correct ?

Answer options ¢

(1) Onlyaandb - {2) Onlybandc

(3) Onlyaandc (4) Onlye

57. @ehe faum famwe =0
A Wﬁauﬁﬁmﬁlﬁl@q&ﬂﬁﬂﬁwﬁzﬁa@mﬁém
9. YuEE TaeElw e devaard wifle wft a9 18 98 gul st wiew.
®.  YoEd Ty geaient EsvE Ty Hasvsm s anigeinTEre Saed Sav.
T Wﬂﬁmﬁ?ﬁammmwﬁﬁmwm

FASs! wivR/d R aReT R/ 2

it I : '

(1) WA e (2) %oa 3, F HANT
@) S A (4) Had H Mg

Consider the following statements :

a. The Panchayat Samiti and Zila Parishad members are directly elected.

b.  The minimum age should be 18 years to contest election at the Panchayat level.

c Elections to the Panchayat Raj Institutions are conducted under the guidance
of the State Election Commissjon.

d. Forthe financial review of Panchayats, a Finance Commission is established by
the State Government.

Which of the statement(s) given above is/are correct ?

Answer options :
(1) Onlyaandb (2) Onlya candd
(3) Onlya ‘ (4) Onlyaandd
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58. wElw faur faemE =
A, wEad ded JivdE s 1957 7Y Foam el B
4. gEEaCd HEd We WV AR JeE) g,
®. B Farm, dof e, A, R O afcd s agE BR. '
. Y gavey Falis gung 1 sreeds sncEsEe e 3 Feb.
Sl Fur faae avEr omRa 9

qurd I ; |
(1) w59 A, g INfor & 2) wRAH, e
(3) waq A, w T (4) A d, % Hfrs

Consider the following staternents :

a. The Balwantrai Mehta Committee was established in 1957.

b. Balwantrai Mehta was the ex-Chief Minister of Madhya Pradesh.

c.  Thakur Phoolsingh, B.G. Rao, D.P. Singh were the other members of the
Commtittee.

d. Rajasthan was the first State to implement the three-tier Panchayati Raj
System,

Which of the statements given above are correct ?

Answer options :

(1) Onlya, b and ¢ (2) Onlya, bandd
(3) Onlya,candd {4) Onlyb,cand d

59, wreha faur faemma = .
A, 73 HEAEEWI] FAEHAAV O HETTY B WA WEH o9 ST,
7. 73mmmﬁmmmm@mm
Fheh S/ fau sview s 2

ey 3w
(1) wRA (2) W W
8) Fafrg (4) & anfor 5 =

Consider the following statements :

a. Maharashtra became the first Indian State to implement the
73™ Constitutional Amendment.

b. Mizoram, Meghalaya and Nagaland were exempted from the
73" Constitutional Amendment. :

Which of the statement(s) given above is/are correct ?

Answer options :

(1) Onlya {2) Onlyb

(3) aandb (4) Neitheranorb
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‘ar i
= SR ) i. TR
q. T ii. WO
#. WE jii. AR
3. b iy, 3R
ot TN :
R L | LD 3
1) iv iii il i
(2) iil iv i i
(3) il iii iv i
(4) il i v i
Match the pairs (Panchayat in Medieval Age) :
11 A! ‘B’
a. Moga 1.  Shikdar
b. Pargana 1. Sarpanch
¢. Prant ili. Amalgujar
d. Shik iv. Amir

Answer options: :
a b c d

QO v iii ii i
@) i iv i i
@ i iii iv i
4) iii ii iv 1
61. TP =i P smim 1 TEW eEEEr IR @ A Grefie S gEe 30
. MRS YT =i

H

¥ T REN 2 E I 1en Rydien e

%, worsar, Tandh anfor =t _

3. N frem =fe, 3 TSl ¥ e R A g W, TOOE, TR 56

wraet s ferrfiagEn T o
g W : )
(1) vata &, & sufor & g amda Q) vwaiF a, & aftr 5 I amA
(3) wed WAIE 3 A AR @) €ty G ama

There shall be a commission to be known as National Judicial Appointments

commission, consisting of the following, namely :

a. The Chief Justice of India

b. Two other Senior Judges of the Supreme Court next to the Chief Justice of India

¢. The Union Minister Incharge of Law and Justice

d. Two eminent persons to be nominated by the Committee consisting of Prime
Minister, The Chief Justice of India and the Leader of Opposition

Answer options :
(1) Option a, b and ¢ are correct (2) Option b, ¢ and d are correct
(3) Only option d is correct {4) All options are correct
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62, Auemfid ey F GeEEEE omRl A UPedl, FRWER W STET TEml

FEATA] TS WG IR R, W SNy audl vew, I fang wrefte W sie ad

T, TN SHECETA/EAl Faodraet TRl il el o gt | s
T

%, Ugydten frepie @ i e aefte ey W ST SavE ST SEe.
3. TEdvEEd ol ot IRe.

T IR

(1) walE 31, | 0 & I Aga

(2) w4 yaig g Agd

(3) waiga, & iy g 9 ed

(4) AT 3, § O § A RS

In case of a complaint against the Chairperson or member of Lokpal, the President

may, by order remove from the office, the Chairperson or any member, if the

Chairperson or such member as the case may be

a. is adjudged insolvent.

b. engages during his term of office, in any paid employment outside the duties of
his office. ' :

c.  in the opinion of the President, unfit to continue in office by reason of infirmity
of body or mind.

d. deemed to be guilty of misbehaviour.

Answer options :

(1) Options a, b and ¢ are correct
(2) All options are correct

{3) Options b, c and d are correct
{4) Options a, b and d are correct

83. Uit ~MEAYTET HeAEd! HESETET S9N HIv HEW ?

(1) gt (2) TaHH

(3) WRATE wETaTay (4) g

By wham is Advisory Jurisdiction of the Supreme Court used ?
(1) President (2) Prime Minister
{3) Chief Justice of India (4) Parliament
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64, UEE =, WHHN TouueoH Aoy 217(2) el Wftatsh divrar wRftda 3=

=TT =i weur ) foaw am s g ?
(1) <uh ARare! A A @

(2) o hA AT Vg fFe 10 3 ~nfis 1 anw e 3R

(3) =Rl I AT WA oW T A SRR anuie wHiaedt 10 99
Fferernr amme

(4) w1 Eehi hely ahmEen firera Sl o

Under which of the following conditions as per Article 217(2) shall a person not be

qualified for appointment of a High Court Judge ?

(1) He is a citizen of India

(2) He has held a judicial office for at least 10 years in the territory of India or of
iwo or more such courts in succession

(3) He has worked for not less than 10 years as an Advocate of a High Court
(4) His name is not recommended by the Council of Ministers

85. WNAdh) FIUE FIOTAHA Hiea Il qraget wear 3
#.  Aefle 5@
|/, gafemi
%. wiken =R, TafEEfE Jebiv e, SEeER, 9 1 3 Gl i
T OISR TR STE e A TR 7o el el e ARIER 9 5o Jdw
Tt I ;
(1) wf &, @ anfr = g sRd
(2) wHHE 9, F M & 4G A
(3) =d wwiw 9 anda
(4) I TR 31 AT § Thg aned

Ordinarily the letter or petition falling under the following categories should be
entertained as Public Interest Litigation :
a. Neglected children
b.  Bonded labour matters
¢.  Petition against atrocities on women, bride burning, rape and murder, etc
d. Petition against the police for refusing to register a case and also for
harassment by police in police custody
Answer options :
(1) Options a, b and ¢ are correct
(2) Options b, ¢ and d are correct
-{3)- All options are correct
(4) Only options a and b are correct
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66,  TEredT A Wit For/d fawEA T ER 2
. g A w198, 2002 3 31 0, 2007 B
A S 5w 8%
%, ol 9@ wiw 10%
3. 2007 T WA 918 7%
safft s ;
(1) w/ (2) % & g
8) w A, 9 AWM= (4) amiht wd
Which of the following statement/s is/are applicable for the Tenth Plan ?
a.  The Tenth Plan’s duration was 1 April, 2002 — 31 March, 2007
b.  Target of GDP growth was 8%
" ¢. Target of industrial growth was 10%
d. Increase of literarcy to 7% by 2007
Answer options :
(1) Onlya (2) Onlyaandd
{3) Onlya,bandc (4) All of the above
67. @i Fvft R 397-95] sat= A @R wdl 7
(1) wgreHEE =t
(2) TR AT
3) @ akia st .. Fere
(4) ST wEe
Who of the following formulated the wage-goods strategy of development ?
(1) Mahalnobis
(2) Ragnar Nurkse
(3) C.N. Vakil and P.R. Brahmananda
(4) Jagdish Bhagwati
68. WA SATIET gEg wo Horyd swva ?
¥. fagura apma 9. UM 9Rm
®. I g 5. ofgm
it I .
(1) wRIAWE Q) FNE (3) wTH AWMU (4) T wE
Which is/are the main cause/s of unemployment in India ?
a. Lack of education b. Employment policy
c¢. Inappropriate technology d. Poverty
Answer options :
(1) Onlyaandb (2) Onlyc (3) Omnlyaandd (4) Alloftheabove
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69. YW IATMEA 21 THF TN ANl AT eEy - AWM afge v deee aE B,
e ol 7.
(1) Rl 3-3 8 <
(2) wiradt 4-2 T w=
(3) wicadt 4-5 28 A
(4) el 56 TH T
The First Five Year Plan’s target was 2:1 percent per annum increase i national
income, actually it was fulfilled by
(1) 3-3 percent per annum :
(2) 4:2 percent per annum
(3) 4-5 percent per annum
(4) 5-6 percent per annum

70. T YA HR TN 3N ued e gamers w1 saw ot s aeem
e ? '
(1) weRry (2) Y9 (8) Tww 4) >
Which of the following States in India shows a wide variation in higher human
development and relatively lower income ?

(1) Maharashtra (2) Punjab (3) Gujarat (4) Kerala

71. O FdEEw guiiE e IR St ?

A, AUGEE IUH

A, IANS fawgan

% afgg

3. STl e

W‘hﬁ'ﬁﬁ:

(1) S X {(2) ST ®
@) T A HMr= (4) =R wd

Which are the main challenges in the Indian Economy ?
8. Low per capita income

b. Income ineguality
c.
d.

Poverty
Problem of unemployment
Answer options ;
(1) Onlya ' (2) Onlyb
(8) Onlyaande (4) All of the above
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72. @A oA foamm e .

. 1984 M HEWTY WETH WP ermmdtee weasad aftdt fige e,

9. @ fau g o ufidie ey Ea.

Fiath wrR RurA avar s 2 _

(1) A (2) "+ (3) wrafra (4) iRy T

Consider the following statements :

a. In 1984, the Government of Maharashtra appointed a fact finding committee

on regional imbalances.

b. Dr. V.M. Dandekar wag the Chairman of that committee.

Which of the statement/s given above is/are correct ?

{1) Onlya (2) Onlyb (3) aandb (4} None of these
73,  ZETEAT ANAG IO S TINT & AT S 7

¥. o &

3. Fhta

F. TERI &

. g &

it S

(1) S A (2) wRI T AMIY (3 W (4) =i AT

Which sector is assumed as ‘Core sector’ in the Tenth Plan ?

a. Industrial sector

b.  Agricultural sector

¢c. Co-operative sector

d. Educational sector

Answer options :

{1) Onlya (2) Onlyaandb (3) Onlyb (4) None of the above
74, 2011 - 1270 98 2004 — 05 =41 R Fhwdien et & e five =@ o 7 -

(1) 16-48 (2y 26-11 (3) 5742 4) 2964

What was the percentage share of tertiary sector at constant price of 2004 — 06 in

the year 2011 - 12 ?

(1) 16-48 2) 26-11 (3) 5742 (4) 2964
75, QTEIH PV IF 1999 — 2000 W WRAT S qTiga ST qEifert ?

(1} 36-0% (2) 27-10% 3) 26'1% (4) 37-3%

Which of the following figures indicates rural poverty ratio of India in 1999 — 2000 ?

1) 36-0% (2) 27-10% (8) 261% (4) 373%
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76. @Eﬂﬁl%%mﬁnﬁﬂ@iﬂmﬁamméﬂa@maﬁ.awmmﬁr
'20A,16154B1201076D2171498518E
(1) D31 awiarereh fma B w1 Rewdigan @ger.
(2) E 1 quienrh fima R 13 am.
(8) A quiewrs fhoa ffFaua 3 oM.
(4) B e o @ 1 19 @

Given below is a list of natural numbers 1 to 20 in such a way that sum of each
adjacent pair is a prime number. Study the list and select the false statement with

respect to it.
20, A,16,15,4,B,12,C,10,7,6,D, 2,17, 14,9, 8,5, 18, E
(1) Value of alphabet D changes according to value of B.
(2) Value of alphabet E ig definitely 13.
{3) Value of alphabet A is definitely 3.
(4) Value of B may be either 1 or 19.

1. mwwmﬁmmmﬂaﬁw

I’E \\ -
.[‘I \V
=
8 17
1) — =
(1) 1 (2) 70
5 1
@ = bl
3 (4) 5
Select the fraction that represents lined part of the accompanying rectangle.
F N
= =
f’ "
fa
8 17
1) — !
( .) 15 @ 30
5 1
3) = -
@ 3 (4) 3
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78, wm@ammwmmmmmﬁm

-
=t

{3) (4)

(2) r@_
4

o O | -

Left-hand transparent paper sheet is folded to get single square shape as shown in
the options by folding along lines. Select the most appropriate fold.

RS
i

(1) (2)

all 72 il

(3) (4)

s
U

A
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79. 3N Harh A fgTRe T geare el T SRErT diee W gl SEa HiNEE T
| TR e e, g Sevaridl wreae serber i T Srema e R s

=
3 oft
3 ady
A
4 oft
5 ant
(1) 36 2) 15 3 6 4 9

Two ants start from point A together and walk at the same speed, one along square
boundary and other along rectangular bounda.ry Select the minimum distance in cm
each one of them needs to cover for meeting again.

3cm

3cm
A

4cm

Scm
(1) 36 2 15 3) 6 4) 9

80. TE TR 193rﬁrﬁmﬁn%mmn@g:ﬁ gH = B e Yo da o ugdn
TR Y W o ﬁaw AT AT I ot T faer
(1) 20C,, (2) 13Cy; 3) 20C, 4) 19C.q
- Select the number of ways 19 pink balloons and 17 blue balloons be tied in a row so
that no two blue balloons are together if all are otherwise identical.
(1) 20C,, (2) 19C,, (3) 20Cqq 4) 19Cy4

81. mﬁsm5oﬁ#mmﬂr«nﬁaﬁaﬂﬁmﬁﬁmﬁ4ﬁmwmw
HIYS e HTE Aot et 10 faeft ) wrEEe wiae d faedt Siat Srereh 7
{1) 40 ot 2) 30 i (3) 20fafh (4) 10 ot

Jaya travelled a distance of 50 km in 8 hours. She covered a part of distance on foot
at the rate of 4 km per hour and a part on a bicycle at the rate of 10 km per hour.
How much distance did she travel on foot ?

(1) 40km (2 30km (3) 20km {(4) 10km _
T BIATHTS! SR / SPACE FOR ROUGH WORK P.T.O.
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82. YEWEY TEEEl 3 wE SEAd A 950 $F7 B @ T8 FOANE T Aud. TR
war A e geam el O e w1 R, W T $ SRE, | wd
AN Fo1 AfeaEd wE ThE, o8 TR REREe qea S W aen Iast e 6 v
FH v gme sEn Al SR 3 woneda foga v ftr sereg st @oa
QI @A SeT Tf O 3 gEES 759, MoEe 39, T, REWIT, WRE i
N A WA 3. AT UHAT, YoAE ) i snvi Sl R S
T FEA. W W § AeEd 7 al MeHren 3 STyl SeEAEn R T de 9=l
I ST A FE; § (IIE) W UVET ggdd f) anmen w1 B 7 ag ar
orheT il I=aN TN R UHE o] faia @W, dRm o, T @, e X0 3 S
0 g foresa 1.

Hfgd=ar geardi=AT HFTHel TS 39S 8 6 SEw e Ut SR
(1) wmEAT sifqs meEteia T men e,

(2) Fgrren SR vR WS §e ST e sreel o,
(3) wE g e 3 v o .

(4) WO AF HATT RS YT HONE ATl SiHaT.

Much of what goes by the name of pleasure is simply an effort to destroy
consciousness. If one started by asking, what is man ? What are his needs ? How can
he best express himself ? One would discover that merely having the power to avoid
work and live one’s life from birth to death in electric light and te the tune of tinned
music is not a reason for doing so. Man needs warmth, society, leisure, comfort and
security : he also needs solitude, creative work and the sense of wonder. If he
recognized this, he could use the products of science and industrialism eclectically,
applying always the same test ; does this make me more human or less human ? He
would then learn that the highest happiness does not lie in relaxing, resting, playing
poker, drinking and making love simultaneously.

The questions asked in the first part of the text reveal that author implies that
human beings

(1) have other needs along with physical needs.

(2) are separated from their true nature as a result of preducts of science.

(3) are always engaged in seeking the meaning of life.

(4) are always engaged in finding the purpose of life.

83. 1 fr PuTE Y T SEiEfEiOd ITH Qg W, TR 9 WY FTH T Joaiad IO WSy
e, a3 FUTT Fhde 9 SEiHaiaY WM G@ig Algd. HiE, 1RE § #gN oA o
Sgeie I Terg, .

g, Trhe 9 spTciiataeT a0 Q@G Hivl R 2

(1) @R (2) o @ (4) @

Ravi and Kunal are good in Hockey and Volleyball. Sachin and Ravi are good in
Hockey and Baseball. Gaurav and Kunal are good in Cricket and Volleyball. Sachin,
Gaurav and Mandip are good in Football and Baseball.

Who is good in Hockey, Cricket and Volleyball ?

(1) Sachin (2) Kunal (3) Rawi (4) Gaurav
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84, “rard s 9 ARFEINIG dEHA Tgaaa UL I
i, afE i wisas wren wRiRg iie Iee FAmior €9, 9o Awewia smivE
TS TEEE TS M. N ENE B TN g, o Bl a5
JEFHA TG FQ FQ@ TN G FIERET AP THEl AT, AR SHIIGA FG FHBHI
AT YRl Tt Sd aaia WG TR,
Ifia wiReEeus sfta sndfideaA fe.
¥, WA et T e Gala e SeIns “wrard aeer & i Wit ged e,
¥ WEwdia S TETE i Fe S0 Ui WEaie s it Felt e
F. TR JuneA INeliard Aeadiel qaued o9 SO $RE THEEE g9,
<. mmmmmmmmmwaﬁmﬁ

i T

(1) 27 FaT A AT @ zweaw

(3) o T e (4) & wrEar F

Study the following observation noted by author with respect to “Make in India”
initiative :

Economic production arises from a combination of land, labour and capital. But with

this respect, the hurdles for business are immense. India’s land acquisition laws are

impossible. Trying to buy land drives most entrepreneurs to distraction — or resort to

corruption. The current land acquisition legislation is unworkable. And given the

terrible state of land records, there is no chance anyone can do better. Only the

movement of the rural population to urban life will solve the land problem.

Unfortunately, India's urbanization is one of the slowest in the world.

Select the appropriate interpretation/s with respect to the above information.

a. “Make in India” initiative is suffering as India’s urbanization is one of the
slowest in the world.

b.  Rural population should migrate to the urban areas and vacate rural land for
setting up industries. :

¢. Government should make laws favourable for procuring rural land for setting
up industries.

d. Government should make it compulsory for rural population to migrate to the
vrban area for national development.

Answer options ;

(1) Nonebuta (2) Allbutd

(3) Nonebutb _ (47 Allbutb

el TATAISE ST | SPACE FOR ROUGH WORK . P.T.O.




L13

42 A

B5. %A= The News : A User's Monual. (700 ITROT-41T1ET arici¥er) T Teawm 2 s
T Ay S oAl wed Heft AR, ¥ A9 B aWTSE] GeRT WS €99
TS Al smE F @l sha R, wreE ‘et mraEEr o1 Heuae qIses T
/D fvmas Gee,

A,

T T HTIeE] 3941 AT AT g o tradie anfr frafieod
TEUTT FTEZ T R Filt HUgen steareT .

9. oiaE SRy T TEple quEiend Wiee saee et Rwfn we araweren
AT AR SUATYT At FAATH.

. YEreA FA A FgAR AIeHTen YU gt Savarardt w2 duy s # wifkd
fhcsavaen weg e @ R sTeATEn @ wfree Sl TR T | e A

3. TR SRR AT feag o Ffaedh wda fiam e yEfe =81 ane St
ey Fafaa wovarh e o S STt seEu nisdie.

I} 3=

(1) =@l

2) + B Tt T

(3) He N AT AFAIGTEN Hewd &d Aerd

(4)

UehEl ATE O T FHewAT AEHTSN TV VA A9 TROET $/auariell Hed sidid

De Botton imagines ‘ideal news organisation’ in his new book The News : A User’s
Manual. He expects that this organization exists solely to enrich lives of the
members of society. Select the statement/s that/those does/do not support/s his
imagination about ‘ideal news’.

a.

Political news would paint a sympathetic picture of the social realities of our
nation and encourage action to correct its ‘systematic ills’.

World news would create a detailed, sensory overview of other cultures for
helping us to break the shackles of our ‘globalised provincialism’.

War news would help us to know how our war heroes struggle to keep us safe
from our enemies so that we can celebrate their sacrifice and killing of enemies.

Crime reporting would highlight chronic human folly and the need to both
understand and control our emotional impulses.

Answer options:

(1)
(2)
(3)
(4)

Allbut ¢

None but ¢

All as they don’t give any importance to nationalism

None as all of them are helping us to widen our perspectives as human beings
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T e e AR,

] T qew 3T

W woq Besd e,

T Seed @ 3.
II. = wm =i s,

Frgaaig ey

(1) Freed [ 3R

() Fred 1157 o8

@) fr=d 19 11, 31 wew anga

(4) frewd 19 11, A o= sna

Statements: a.  All switches are plugs.

b. Some plugs are bulbs.

c¢.  All bulbs are holders.
Conclusions: 1. All hoiders are plugs,

II. Some plugs are switches.

~8a

Find the correet alternatives :

(1) Conclusion I is true

(2) Conclusion I is true

(3} Conclusions I and II, both are true
(4) Conclusions I and II, both are untrue

87.

T faue aers Sl ot onfea, ot wiem T ot otily § 91A, ug-dras onfor Igm rfirar
ARG, A T A AW ST o8 AR, wefiedeht R a1 fiarwkar @t o,

I  HR-91AF GHedl Uh G A of Jatd FH FAE,

II. JMue o eoasan sfavitel seie e safor ot <Ters da it el
TE-ITAF FI I ?

(1) onfea () wE

(8) amm (4) onfem Frar amy

In a certain flight crew, the positions of the pilot, copilot and flight engineer are held
by Mr. Aadit, Mr. Dhananjay and Mr. Amogh, though not necessarily in that order
given. The following statements are true for all the three :

I.  The copilot is an only child and earns the least.

II. Amogh is married to Dhananjay’s sister and earns more than the pilot.
Who is the copilat ? '

(1) Aadit _ (2) Dhananjay

(3) Amogh : (4) Either Aadit or Amogh
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88. wH =Wl IRIR 10 f&ft e wuvaiar © 160 T, sImed yifve FE BT = Ao
A, TF I RN 16 FFft i wovarwhar € 276 3 ol crErd Sedht wEw Wi
sl Fftem wren g @ s,
W IR wft fpeimier =2 fedt s 2
(1) <T10
2y T13
3y T11
4) <17
A man paid ¥ 180 while travelling 10 km in a taxi which has some initial fixed
charges. Another man paid T 276 for travelling 16 km and the taxi driver charged
double of the initial fixed charges from him.
Then the charges of the taxi per km are
(1) <10
2) T 13
3 Til
{4) T 17

89, dfseiid TR I7 HigW YATEAT T T AR, g1 AGHR AR TA AT Gl
T foore g, SR o= S g qur 15 9919 3R AR, W i e T R 2
(1) 11098 (2) 704 (3) 60T (4) 5098
The present age of the father is twice that of the elder son. Ten years hence, the age
of the father will be three times that of the younger son. If the difference in the ages
of the two sons is 15 years, the present age of the father is
{1} 110 years (2) 70 years (3) 60 years (4) 50 years

90. TR 40% Taeneati Tt S 70% PEER A9 Fiad! AT, T 15% RerAth

i @ o W e A AigaRien @ @, A Rvaid e a9 9 T
faemetst eward faer

(1) 5 (2) 15 3) 0 (4) 25

In a class, 40% of the students enrolled for Maths and 70% enrolled for Geography. If

15% of the students enrolled for both Maths and Geography, choose the percentage
of the students of the class which did not enrol for either of the two subjects.

(1 & (2) 15 3 0 4) 25
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= W?ﬁﬁl@iﬁm-wﬁ -

¥, wgwgrl areaeE) v (i) = 'E'?g'wnwg Ei'(' aﬁ“.g'%:ﬁ“ )

-  SrEEt T Fream s & (h.fel)

RPN w0 AEses (<. )
it I
(1) ¥ TR
(2) T
(3) AT WN
(4) * |WN
Calculating the density of population in Maharashtra using the following formula :
Population of Maharashira

. ion density of =
a.  Population density of Maharashtra = —— Population of Districts

b. Population density of Maharashtra (sq. km)

_ Toatal Population of Maharashtra
Total area of Maharashira (sq. km)

Total District area (sq. km)
Total area of Maharashtra (sq. km)

c. Population density of Maharaghtra =

Answer options :

(1) ais correct

(2) biscorrect

(3) aand b are correct
(4) cigcorrect
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92, Wrfiw fRumih g@#re fRym s 2

o, YIS SRS AU SR T @ NI dhie WIS,

q.  HPEE ST 1 gigEarar S |ry g, |

®.  glgaarea SRS S S a15e 9ium Bid.

3. gfigaEaren ewags wree damn onfde e arfus Jue gt

i I

(1) % A (2) ¥as

3) wK® 4) R TR AT

Which of the following statements is incorrect ?

a. Intellectual migration leads to increase in young and talented people in the

arrival region,

b. Intellectual people benefit the arrival region.

c.  Migration of intellectual people badly affects the arrival region.

d. Migration of intellectual people results in fast economic development of the

arrival region.

Answer options :

(1) Onlya + (2) bandd

(3} Onlyc (4) None of the above
93. wEIg vdardl wErpRie wvE fhdt fadt. g 2 |

(1) 420 (2) 440 (3) 470 (4) 520

What is the length (km) of Sahyadri Mountains of Maharashtra ?

(1) 420 (2) 440 (3) 470 (4) 520
94, WIATHR TSR IRE 9 WO TR IO T @i angd ?

(1) et F Him (2) T = A

(8) W= A gl (4) &M 7 Y

Which river basins lie to the north and south of the Balaghat Plateau ?

{1) Godavari and Bhima (2) Narmada and Tapi

(3) Panchganga and Ghatprabha (4) Wainganga and Penganga
95.  man fire FErEren v fiewd e 2

(1) T (2) STt (3) FGER 4) 92

The Astambha peak is in which district of Maharashtra ?

(1) Nashik (2) Amaravati (3) Nandwrbar (4) Dhule
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g6, ‘ol w ¥ Amd udem R fch s (Rrl) R 2

(1) 172fed (2) 174 Tt (3) 176 famedt (4 178 faft
What is the distance (km) from the ‘Bombay High’ oilfield to the western side of
Mumbai ?
(1) 172km (2) 174km (3) 176 km (4) 178 km
97. Wl A Fee ATEN [E 3| S wAe (= Teh) Sawen sem e
R 5. e &, T |
5. wuadt -
it 3
1) 3% 9, % A (2) +,9,%,38,3
(3 §,3,% %% 4 %,8%,9 9
Arrange the following districts as per the availability of forested area (sq. km) in
descending order.

2. Chandrapur b. Gadchiroli e.  Gondia
d. Amaravati e. Wardha

Answer options ;
(1) deb,ca (2) a,b,cde
(3) b,a,d,ce ‘ {4) ec,deba
98. 2011 =4 SHIVI{AR ARSI Aradid MEIIEIT SRer foheat sris | ? g
(1) aféen (@ (3) frm (4 < SEA
What is the rank of Maharashtra in population in India, aceording to 2011 census ?
(1) First (2) Second (3) Third (4) Fourth
99, Wi TERIgIS) ARG ST S TS S T S e ? A
A, S . AwEl &, fadh s S
. Tl ®. Yl
gy Eﬂ :
(1) A3« (2) F9% 3 29w 4) ¥4

Which of the following are the two highest spoken languages by the people after
Marathi language in Maharashtra ?

a. ‘Tamil b. Malayalam c. Sindhi d. Kannad

e. Bengali f.  Punjabi

Answer options :

(1) aandb (2) candd (3) eandf 4) asandd
100, AN S T Migrairen g arE I IR ?

(1) wiwG @) B (3) (4 w=h

Which of the following rivers is the right bank tributary of Godavari ?

(1) Manjira (2) Shivana (3) Dudhana (4) BSabari
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Tl — (ge1amm2.....)

(8) SeAgrIeey fafda Feiea At Ivfte w=t ®| (o 3h) w4, FeTgfer=fiiE SRR a1 W
HATCET F= HH A6 3 5] FOATA A FO AME, W ARG T 7 AR IR e
Il ¥ wiame dorm R whEy seaEEm afufem-g2” ade Rgdger s
HOT AL 7 Yt A FHIA b IuTeAT BT /R 98 T gaR @R asrear Rieg

I R,

(9) T wAuthaEt s fifka Faeht 3w SuaHar FeTREl @ SEYRTET @ ale TEmmETETet
U3 E WEEE AR, WA aigreanargt aoargdt SWEaR SNuear SaiedT Wil

AR A T W S ARvEE AT,
C LG L
T.%. 201, S T TR FOTEE B o TS S 7
(1) T g at (2) Svarag faammm
(3) T TR W (4) TS MER

u. & 201.

T W A I Q) oo aweea 18 AR . W@ W TR 3w @) gEe.
R WA SR . 201 TRl IAtEEE (D) g T SR wE
BT AEEF 1Y,

© @ @ 6

A TN TR g Te$ TN qAET S-SR B R aatien e
FPRale " = AR Wi age e gl dEd qrEdEl. st
e STEAT WITESl AT anar, AFRe T s 0 araw .,
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